Civil Procedure

Maranville


Problem Set #16
Functions of Pleading and Motion Practice: Rule 12(b)(6) 
Yeazell, pp. 339-40
Paul Pearson, using the complaint you drafted for him in the preceding section of this chapter, files a lawsuit in Federal District Court in the Southern District of Florida.

Q. 1.  Debbie Dolt, one of the defendants, files a 12(b)(6) motion to dismiss.  Explain what will happen if Dolt wins her motion.

A.  Rule:  12(b)(6)- failure to state a claim upon which relief can be granted.
Conclusion:  The case will be dismissed.

Q. 2. Explain why her lawyer, probably hired by Dolt’s insurance carrier, will be particularly happy if this motion succeeds.

A. Her lawyer will be happy because a Rule 12(b)(6) dismissal is a cheap, final victory.

 Before the Rule 12(b)(6) motion, Dolt’s insurance carrier has made an offer to settle for $1,000.  Pearson, the plaintiff, has turned down the offer to settle on these terms.
Q. 3. If the court denies Dolt’s motion to dismiss, would you expect the carrier’s next offer to be higher or lower?  Why?

A. Higher.  The carrier is going to have to incur the cost of defending the lawsuit on the merits, and its settlement offer may reflect a desire to avoid those costs.

Q.  4.  If the court denies Dolt’s motion, how will this change the insurance carrier’s litigation budget for this case?  Why?

A. It will increase the litigation budget, as the carrier must now pay an attorney to defend the case on the merits.

Q.  5.  If the court denies Dolt’s motion, what changes is this likely to make in the plaintiff’s lawyer’s litigation budget for the case?  Why?

A. Plaintiff’s lawyer’s budget probably assumed from the outset that the complaint would not be dismissed under Rule 12(b)(6), so the outcome probably won’t change that budget.
